Quiz #2.                  학번:                    이름:

1. A ternary communication channel is shown in Fig. P2.3. Suppose that the input symbols 0, 1, and 2 occur with probability 1/2, 1/4, and 1/4, respectively. Suppose that a 1 is observed as an output. What is the probability that the input was 0? 1? 2?
FIGURE P2.3
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2. A biased coin is tossed repeatedly until heads has come up twice. Find the probability that k tosses are required.   

Hint: Show that {“k tosses are required”} = A ∩ B , where A = {“kth toss is heads”} and B = {“1 heads occurs in k – 1 tosses”}.
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